/S SR PIIR (BB A E LY)

C—VHE

FmE (M) | EREE () Pkt X & =E3
B LR 12,900 9,000 1
_ T-1 1,750 2,400 2 _
F—<E (ZY7) [11XH] 5~TDDFT —<
T-2 900 1,200 2
AREIE A-1 3,500 2,400 1 15
A AR o (50X je] A-—2 1,750 1,200 1 10
A-3 900 600 1 25
REtE [IXE] 3,500 2,400 1 9
ARBINE B-1 1,750 1,200 1 2
(30X je] B-2 900 600 1 3
B-3 450 300 1 25
24 TBREYF v | —1 3,500 2,400 1 1
[E PR B | — 2 1,750 1,200 1 1
[5Xd] | -3 900 600 1 1
| — 4 450 300 1 2
c-1 3,500 2,400 1 3
24 FCHREYF v [7TXiE] C-2 1,750 1,200 1 3
cC-3 900 600 1 1
BIARER 12,900 9,000 1
NPO/L—L 3,500 2,400 1
B 14,200 9,900 1(2)| K 1E=E. /IfEE
WELE 6,000 4,200 1
B - YRR e 3,500 2,400 =
1,750 1,200 5

MEEME 1 70%

Bait: 13 7XH

M. ButEL (F1TA - BATEE - BIBIKEE)

: 6 1XH
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